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N = 0l & At & Ml A

M =X2el
M ANME DSEF B
©@Hel: el (FUHESERA) (Sl &&)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
F=Xtatel 10,743,455 10,415,935 327,520
Al 384,000
- 10,359,455
AEE N3 ZE 9,849,021 9,369,456 479,565
Al 384,000
- 9,465,021
=xel(=nEsSE3A) 602,169 1,732,789 A 1,130,620
EYFENHS 143,396 219,453 AT6,057
201 Let24d] 74,021 100,478 A 26,457
01 At 22l 34,642 32,325 2,317
NUEHERD L HQIA AEIH MY
75 %2,00021 x128 1,800
HEHSRH HEAEH B
2,000 3«6 x7IH x 128 1,008
FEXRAL JAXsHABY SEM S
80& 2004 123 192
NS OHHE 753 +2,00024 128 1,800
FEXNH S S+ 8,200 «7m x700H & 4,018
ANZPEAEHAIHHEAARE =
70,0003 x5H »23| 700
NFEXRAL A4S 2+
70,0003 x9H 23| 123 x0.95 14,364
NEXESF O s 4,320
2)ot= 80,000& »9H » 1L 720
Q)EFS 100,000& »9H 14 900
2)s= 150,000 »9H » 1L 1,350
2)gst= 150,000 9% 1 1,350
1)24A120 &A=t Ol S| 6,440
2)ot= 80,0003 x28H x 1 2,240
2)gtet= 150,000& x28H 14 4,200
02 =224l 39,379 68,153 N8, 774
XS XAl 1,195
)8R (2 H) 57,0003 «50H 285
)58 (5E) 60,000 = 1CH 60
2)5 88X (SESW) 550,000& = 1CH 550
2)EEX(EZESW) 300, 0002 = 1CH 300
Nsx BE8= 3,600
)8R (2 ) 400,000& +5CH 2,000
)58 (5) 500,000 «1CH 500
2)EEXH(SESW) 550,000 = 1CH 550
2)EEXH(ESESW) 550,000 = 1CH 550
NeHEg SUHE AIE2 53,0003 x12CH 123 7,632
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M =X2el
N AXS DESS M
Sel FRRA(FHITSHN) (ol @e)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
IEEEIEEEERIEEN I EET
500,000& *4= 2| 2,000
1) Xtek==eltl 80,0003 +8CH 128 7,680
1)XF 2 At 139
Q)58 (&) 83,000 = 1CH 83
2)5EXH(4E) 56,0003 = 1CH 56
NeIH(ELR) 1,4703 «1502| & x4 CH =128 10,584
1)S S0 (LPG) 900& «1002| & «2CH 122 2,160
NeIU(ER) 1,360 x902| e x1CH*12& 1,469
NIV EXRS 60,000& 1CH » 122 720
NAIZTESHHMLI MBS R SHA2dTHE
55,000& x20% »23| 2,200
203 YR =& 4,115 4,115 0
03 AIEFAH S Z=AY| 4,115 4,115 0
NEYFIXCE =00 23 615,000& 615
NEEXLAB AT = OAF 2tE 3
1,500, 000& 1,500
NEEF=EXN 58S A 2,000,000& 2,000
204 MR AH| 14,700 14,700 0
03 EZYFEHI 14,700 14,700 0
NSYFIENGS AIZEERMAINN ULl &Sy
50,000 *(35A1 2t /40Al 2H)*x28H «12& 14,700
301 LEPEAF 7,920 7,920 0
09 HALAHIX RS 7,920 7,920 0
NEUSSERNCS DSH, S
10,0003 *3H %223 x 123 7,920
303 Z& 3 8,640 8,640 0
01 X432 8,640 8,640 0
NE=YFIXNEE ZAZ 80,000& x9H 128 8,640
401 AIEBIZ 201 8] 34,000 83,600 249,600
01 A& Bl 34,000 83,600 249,600
NEYFIUNHEE CCTV M &X
6,000,000 *1CH 6,000
NEYFIUNHLHE CCTV &sHA
5,000,000% =1 CH 5,000
NEYFIUNHHE CCTV &X
7,000,000% *1CH 7,000
NEYFINCS dEHAAE
16,000, 000& * 14 16,000
etz 2 A 295,695 295,694 1
201 et 269,045 269,044 1
01 At 22l 100 100 0
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AN =x2teln
M AME nsEs
©@Hel: el (FUHESERA) (Sl & &)
= _ — d =
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
NESMAFSI 5 L oA 100
Q)R+ 1,000& x50 50
)M == 1,000& x50 50
02 2324l 268,945 268,944 1
NRERI 255,745
2) et 380% 19,9482« 12& 90,963
2)S7I 2,4803 5,537 x12& 164,782
NFIXULADEZE 22dAAE X E2H| 13,200
2)2ctol 2 2elAlAE 605,000 128 7,260
2) L AT AIAE 495,000& 123 5,940
203 R =&l 1,000 1,000 0
03 A Z=XH R =AY 1,000 1,000 0
NFEXAL WEUHE 22 FA
100,000& =103l 1,000
303 L&t 3 25,650 25,650 0
01 243 25,650 25,650 0
NHESE JMENEs 3 TAZ 25,650
2NXE & 175,000, 000& * 1% 1,750
2)2XA &= 85,000,000 *3% 2,550
2)3XE = 0] & 427,000,000 *5% 21,350
FAEE B0y g 56,078 43,065 13,013
203 ¥ S =&l 1,710 1,710 0
03 Al =AY R =&Y 1,710 1,710 0
DA SR tE8s L 2A2/HRFE
1,710,000 1,710
301 LA F 54,368 41,355 13,013
0B M ELRIBLS 54,368 41,355 13,013
nNes 608,500 x5 «12& 36,510
N=g(s44l) 7,000 x5 %222 « 123 9,240
N=g(nsl) 2,700 x5 #2224 «12& 3,564
NENM=2 MIELR(WEH])
2,700 x5 #2224 «12& 3,564
1ol = bl 297,840 x5H 1 1,490
oldldgl 29 107,000 1,174,577 A 1,067,577
801 GilHIbl 107,000 1,174,577 A 1,067,577
01 L erolli bl bl 107,000 1,174,577 A 1,067,577
1) ol el gl 107,000, 000& 107,000
Ao ARA(F=INEHELSIAH) 187,200 165,600 21,600
JAAHR 187,200 165,600 21,600
307 glz2+ol & 187,200 165,600 21,600
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EXN: F=x2el
N AXS DESS M
Sl ol YR (FHISHIN) CERED
- _ _ RE]
SA BB (SH) - HRAY - B Ol At o %@ﬁ HRE2
05 QIZ2tR E 2 187,200 165,600 21,600
1)0I2FA QI A H ARyl
60,000 x260H x12& 187,200
=X (=N ELESIAH) 2,950,646 3,757,561 A 806,915
F=IE E2dY 2,797,866 3,623,381 N 825,515
309 M2 2,616,566 2,520,811 95,755
01 SAH- 2HINEEZ 2,616,566 2,520,811 95,755
NEA 22 Z2C =X 22 ALY 2,616,566
2)olsE A Y| 1,535,545,000& 1,535,545
2)2d &bl 1,081,021,000& 1,081,021
404 2MNB2H2NHE2 181,300 1,102,570 N921,270
01 BAF- 2282 181,300 1,102,570 AN 921,270
1Al 22 28 =X 22 ALY 181,300
2)=E THAE S| 181,300,000 181,300
SAFEIE 22 116,680 106,680 10,000
101 124 H| 12,600 12,600 0
04 J|12ZtHIZ22NEES 12,600 12,600 0
NEAZXE ZAIR oA
140,000& »32H 30 12,600
402 SI2vXHE0| & 30,000 30,000 0
02 QIZtXIE A E X (0| XM THH) 30,000 30,000 0
1NEAZ=IE HE ALY A& HIEX
30,000,000 30,000
802 Bt&t2 DI E} 74,080 64,080 10,000
03 JIEIEtEt2 S 74,080 64,080 10,000
NELAFZIE HLAY =X sHE=2
64,960,000 64,960
NAESY F=XNE F=X=¢ Btaz
9,120,000 9,120
29 F=xHA 2 36,100 27,500 8,600
201 et 9| 36, 100 27,500 8,600
01 AP 2t 2] H| 36,100 27,500 8,600
NS Z2A=XHE EXAIE2
5,000,000 42 D] 20,000
NHMUAZAZIE W 28X HE2
8,000,000& 8,000
NER2EZ2EFIE W 28X HE2
3,100,000& 3,100
NEIAZ2F A ELH| 5,000,000& 5,000
FE =X N (=EXIHRELYEIA) 6,109,006 3,713,506 2,395,500
Al 384,000
- 5,725,006
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M =X2el
Hu: AN DESS MM
¢hel: FEHI =XEE WA (FUHEELEFAH) (2 &E)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
SMEIOE =4 764,506 664,506 100,000
Al 384,000
- 380,506
201 £B-2d| 15,100 15,100 0
01 At 22/l 15,100 15,100 0
NEES M= 2,500,000& »23| 5,000
nelMe M= 1,250,000& 23] 2,500
NE2IH A28 400,000 *43| 1,600
NEos2eld Ardlgl 50,0002 «10H <128 6,000
203 YR =] 2,500 2,500 0
03 A=A H =AY 2,500 2,500 0
NI MAAIY gRFX 2,500,000& 2,500
303 L&t 3 3,000 3,000 0
01 243 3,000 3,000 0
Ne=dx S=0HH 243 3,000,000& 3,000
401 A& HIZ 201 8] 643,906 643,906 0
Al 324,000
T 319,906
01 A& HI 640,000 640,000 0
NEEEHEI A 9,000,000& x602t = 540,000
Al 324,000
- 216,000
NEFHSHSI SHa 4 1,000,000 «60H 2~ 60,000
NS RAES 2,000,000 *200H 2~ 40,000
03 Al 2 THHI 3,906 3,906 0
NSAr2e 202 3,906,000& 3,906
402 RIZEX 20l A 100,000 0 100,000
Al 60,000
T 40,000
02 LA TEALEZ(0IETHR) 100,000 0 100,000
1O E =Xt& 223 X
50,000,000 *20H 2~ 100,000
Al 60,000
T 40,000
Ol BEFIHEAHL 3,565,000 1,123,000 2,442,000
203 R =&l 2,000 2,000 0
03 AIMZ=XH R =AY 2,000 2,000 0
NSYFXNEHE A2 FE 2,000,000& 2,000
401 AIEHI L 2 CHYI 3,563,000 1,121,000 2,442,000
01 A& HI 3,563,000 1,121,000 2,442,000
1)3 At 3,563,000,000& 3,563,000
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EXN: F=x2el
N AXS DESS M
Sl ZEDl EXEY WM (EHH S A (B9 ®R)
(o
SA BB (SH) - HRAY - B Ol At o ﬁ}lgﬁ HRE2
+=EXEsSW SEFIUE S2F 22 70,000 50,000 20,000
802 Btet= DI Ef 70,000 50,000 20,000
03 JIEIEtE 2 S 70,000 50,000 20,000
NEXE=2AZ2 Ui 2 70,000,000 70,000
SHEINE AIEES 300,000 300,000 0]
401 AlEHIZL 2 0HY| 300,000 300,000 0
01 Al&H| 300,000 300,000 0
NER2SBIFIUE S B2LFAUE A B
140,000,000 140,000
NFAHNZLZ2LEFTINE S A AYUAE B4
160,000,000 160,000
MUS SHFENE H4AL 500 271,000 A 270,500
203 R F&d| 500 0 500
03 AIZH =& 25 X H| 500 0 500
NE2Y=IEAL AL =K 500,000& 500
A2 0ISFENE A4 800,000 800,000 0
401 AlEHIZL 2 0HY| 800,000 800,000 0
01 Al&H| 800,000 800,000 0
NAZEHIP L B A 680,000,000& 680,000
1)2 AbHI 120,000,000 120,000
SIH XSSt KXot SEFXNE A4 609,000 50,000 559,000
403 XX SHHS K20 & 609,000 0 609,000
02 BI2SHUSANSEASAIE Y 609,000 0 609,000
NaAAEH 29 609,000,000 609,000
SHE A A 894,434 1,046,479 A 152,045
CIESAH|(F=XNEHELESAH) 882,814 1,008,399 AN 125,585
ol AH| (= Xt22l ) 882,814 1,008,399 N 125,585
101 Q124 H] 840, 184 858,850 N\ 18,666
02 JIEA 2 %= 840, 184 858,850 N\ 18,666
NEYFAEICE AIH(OI2) B 790, 184
)23 1,600,000 x28% x12& 537,600
)¢ 60,000& x28H x12& 20,160
)82
46,585,000 *6%*28% % (35/40A1 2+ ) *1.009 69,097
2Q)ELH R LG 92,0003 28 x12& 30,912
2) ™ oM ZAlH| 140,000 282 x12& 47,040
2) D2 AtH|
1,600,000 *0.84%0.86%1/30%1/7*x91A| 2t %28 14,025
[m]
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SN FERBE D
ol HZ2 YA
Sl QSR YH (FRNESEH) CERED

= _ — d =
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
DESTEEEN=)
8,798 *10Al 2t +28F 122 x1.009 29,828
2)BE = 757,689,793& x5.48% 41,522
NEYFIs AIIM(02) E123
50,000,000& 50,000
204 X2 43 A bl 42,630 42,630 0
02 22 =4 42,630 42,630 0
NAIZEE ML I M (0 =)
145,000& *(35A1 2F /40 Al 2} )28 122 42,630
2 (=nESEAH) 11,620 38,080 A 26,460
=Bl (=x2el ) 11,620 38,080 26,460
201 L4 5,140 5,100 40
01 At 22l 5,140 5,100 40
NI2AREEH 10,000 55X *43] 2,200
NEAI AR2E 100,000 »2CH 43| 800
NIMESEI| 228 100, 000& »2CH »23] 400
1S ALE Xl (A4) 20,0003 54t Xt+128 1,200
124N =XSHEH FRANE 45,0003 x2E +63 540
202 044l 6,480 6,480 0
01 = LH o4 1l 6,480 6,480 0
NI L2EZX OHI(FEX SEHH)
20,0003 «9H 32 «12& 6,480
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